[image: ][image: ]1.4.3 Organisational Design




Starter
Do you know someone who is terrible at communicating? Without naming them can you tick the ways that they fail to communicate effectively:
· Interrupts
· Talks about themselves too much
· Over dramatize everything
· Lies
· Talks too fast
· Doesn’t discuss important issues
· Constantly criticises
· Too sarcastic
· Always negative
· Rambling

 
Write your definition of organisational design here:

____________________________________________________________________________________________________________________________________________________________________



Hierarchy
· A hierarchy is a system in a business where employees are ___________________________ due to their status and authority
· Traditionally those at the ______________________ of the hierarchy are more ____________________________ than those at the bottom
· Employees during their career will seek to move up the hierarchy to improve their ___________________________ and working ________________



Chain of command
· [image: ]The chain of command in a business is the flow of ___________________, power and _____________ through the organisation
· Those at the top have more ___________ and authority
· They can ___________________ tasks to those __________________ to them in the hierarchy (below them)
· ______________________ and status reports flow up the chain, _______________________ flow down the chain. Both need to be handled at the ____________________ level possible



[image: Image result for stick man]Span of control
[image: Image result for stick man][image: Image result for stick man]

· This is a __________________
· An employee that works as a Head of Department in a school may have 6 teachers working for them.  Their _____________________ of control is therefore _____________  
· This is the number of subordinates that they can ____________________ to

[image: ]Span of control - the number



· Where there are _____________ spans of control there will be a __________________ hierarchy and jobs will be very _________________________________. 
· A _______________________ span of control will mean a _______________ hierarchy and employees will be given more responsibility and larger roles









Decentralisation
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Centralisation
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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[bookmark: _GoBack]Centralisation – draw and label the diagram






















Decentralisation – draw and label the diagram
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Types of structure
[image: ]
Draw your family organisational chart here: 


















________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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What does an organisational chart show? 
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Tall hierarchical structure

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
	Advantages 
	Disadvantages

	
























	








Flat hierarchical structure 

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
	Advantages 
	Disadvantages
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Matrix hierarchical structure 
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Impact of different organisational structures on business efficiency and motivation
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Extract D

New CEO looks to re-structure strug

g Rolls-Royce

Rolls-Royce is a 107-year-old prestigious British engineering company employing 54,000
people around the world, almost a third of whom are highly skilled engineers. In 2015 it
suffered falling profits. The first major move by new boss Warren East was to remove a

layer of its experienced senior management in an attempt to tur the business around. 5
Without the extra layer of management, “a week would be saved for every month it took

to make a decision’, East said.

The demand for Rolls-Royce engines fitted to large passenger aircraft remains
unchanged. However, many airlines have been using modern, more fuel efficient aircrat,
rather than their older models. As a result, profits from supplying spare parts and 10
servicing have fallen significantly. In addition, sales of engines for corporate jets have
declined sharply.
(Source: adapted ffom htpy/uk reuters comVarticl/uk-rolls-royce-
hldg-restructuring idUKKENOTZ01V20151216)
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Despite Warren East's restructuring, Rolls-Royce still has a tall'organisational
structure. Two options for the future of Rolls-Royce are to remain as a tall structure or
to change to a flat organisational structure.

(@) Evaluate these two options and recommend which is most suitable for a business,
such as Rolls-Royce.
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Evidence A
Tobbe Lean, or not to be Lean? That Is the question.

In the 19905, Toyota became one of the
‘worlds largest automobile companies.

Itis renowned for its advanced product
design and manufacturing efficiency.
Toyota operates many factories across the
‘world. The company benefited from lean
production management such as Just In
Time’ ) stock control. I the early 20005,
the rest of the car industry, including
Jaguar, tried to catch up. The principle of
lean production management was also
‘adopted by the phamaceutical industry, where AstraZeneca used it to implement a culture
of continuous improvement and excellence in manufacturing by eliminating waste.

‘One aspect of lean production management at Toyota s to use identical car parts across
multiple models and brands. This helps to shorten product development lead-times.
However, this means that a simple fault in one car part can have far reaching
‘consequences for the manufacturer.

In October 2010, Nissan recalled over 2 million cars worldwide after a fault in a common
car part was spotted. In the same month BMW also had a product recall. Earler in the
year, and again in 2011, Toyota ~ often regarded as the most reliable car manufacturer
- had similar recalls. All three car manufacturers had adopted lean production
management.

An articlein the Toronto Star newspaper blamed lean production management for some
ofthe problems facing car manufacturers. Using identical parts for many models and
brands and reducing the number of suppliers, reduces waste but increases risk.

Quality management is supposed to reduce the risks by detecting faulty parts before
they are used. The technique of quality assurance involving self-checking should be
‘applied at every stage of the supply chain, including design, engineering, management
‘and service. If anybody working on a car manufacturing production line spots a problem
with a particular car part they can report this and it will be acted upon or corrected. This
‘would mean that faulty cars should never make it to market.

Has lean production management gone too far?
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Assess the likely effects on a large car manufacturer of having a tall organisational
structure.
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